Quiz 2, Math Thought YA
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1. (4 points) Pro'vé that if 2% — 7 is irrational, then z is irrational.
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2. (3 points) Let @ and n be positive integers. Prove that if p divides a, then a = 0 (mod n).
(Recall that @ = b (mod n) + n divides a — b). /
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3. (3 points) Consider the following statement: “For all integers x, there exists a positive real
number y such that 3z < /3."

(a) Write the statement above using only mathematical notation (or as much math notation
as you can). R R ;

~ (b) Write, in words, the negation of the statement above.
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